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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempte
choosing at least ONE from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. 1
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a questic

shall be counted even if attempted partly. Any page or portion of the page left blank in ti
Question-cum-Answer Booklet must be clearly struck off.
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Wus A
SECTION A

1. Pt uee @ s 150 vreet # 3w i

Answer the following in about 150 words each :

ARA § & T Tt s o wiEd aeemsien w ool Hifvm |

Comment on the French ambition of building a territorial empire in
India.

AT % I IR IRA | R TR wew I @ sy g A vaw R 2
After the Battle of Plassey, how did India transit from the medieval to
the modern age ?

T 3 39 A W Head & {6 WRa § 199 3 204 wranfeeat & wrqmn wnfees
o 1 ATIfoTe U S Hiehite Jece™ o1 AF SeR f3R 2

Do you agree with the view that the growth of vernacular literature in
the 19 and the 20" centuries paved the way for social reform and
cultural revival in India ?

“1857 =1 TG, TaranfEl & ex @ el it qen U fogie @ w8 Wy 91 |
fRoqufy v |

“The Mutiny of 1857 was much more than a Mutiny of Sepoys and much
less than a National Rebellion.” Comment.

Sy A @t T weRl 6 s fifve, R e § e
Qe =t A foma |

Explain “Constructive Swadeshi” characterised by atmashakti
(self-reliance), which propelled the Swadeshi Movement in Bengal.

qE eI HEl a% Tal B 6 WRG W TR TE SUST O % GTus
¥, 9 9na sfeew sues el s 9 2

How far is it correct to say that if Clive was the founder of the British
Empire in India, Warren Hastings was its administrative organiser ?

“grifa <t Sftd gl i Sl @ et ot T 9@ % e g 98 1”7 59 s
1 dis fafem a4 & gl § ey Hifs |

“Peace hath her victories no less renowned than war.” Examine this
statement with reference to Lord William Bentinck.

“Gra & T e el T fasher Y gem # wE it aifard off 17
AT Y 39 qoh | TEHa & ?

“India’s_need for a federal system was more an imperative than a
political choice.” Do you agree ?
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195 SraTedt % AN A | Th Hew@qul Tl ud St “f-sfteniier wees |
TG HAT & TIU ITERN I 1 SIS TNE0 Teqga it |

Critically examine the causes responsible for the phenomenon called
‘de-industrialisation’ in India during the nineteenth century.

Ig HET el o Uel ¢ 7 199 vaedt % anfeand fagie ImidE N
& fow g 2

How far is it correct to say that the 19th century tribal uprisings are a
part of subaltern nationalism ?

2. .3, TR A UG I FAfd GHE H1 ToHIGH 8 h8 THR &
e =1 T e ?

How did Dr. B.R. Ambedkar try to seek a political solution to the
problem of caste in India ?

‘ATt % W1 % G (1773 — 1853) % QM Sl A & BRI W HEGH
i ] A A IERIRAT 9¢ TS of |7 TR i |

“The need to impose greater parliamentary control over the Company’s
affairs increased during the decades (1773 — 1853) after Plassey.”
Elucidate.

R T e § afenet 3 wH-6 vewegel qteer g 2

What significant role did women play in the Indian National Movement ?

AT UG o GG eieHl & WEY I YA 1 ATAr-cds e
TG T |

Critically examine the nature and scope of environmental movements in
Independent India.
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SECTION B

Q5. F=frRam aies 1 T 150 yreat # 3w AR :
Answer the following in about 150 words each : 10x5=50

(@) I HIEE A Fe HF Y W U AAEAICHSD ghg TS ... S&ih Y
A I GIAYHT @I o1, W A hael HHH Hodss W SAfekdeh &aadl &
FATEG YT <l WSTEA I T8 o@l ... ” 9 W 379 for=m wega HifSw |

“Karl Marx applied his critical intelligence to Wealth of Nations ...
Where Smith had seen only the sunlight, Marx saw only the shadows
thrown upon the human scene by the unimpeded exercise of individual

liberty ...” Elucidate. 10
(b)  Hefieh SO @I B 2 JUY W U 38 THTE T Gedish hIfoY |

What is Metternich system ? Assess its impact on Europe. 10
(c) ‘“Usg §Y shaa vrunedl o1 @9 @ |7 Revaeft weqa Hifse |

“League of Nations is a League of Notions.” Comment. 10
(d) Wl % FEtT AU % qeT @ i saren Hifu |

Explain the main features of the US Federal Constitution. 10
(e) UHYH fowa % foivH ® fohT el 7 Tg e 2

What factors contributed to the emergence of a unipolar world ? 10

Q6. (a)  HIHIET hifd 1 HROT HHE it & o fobeg shifa et gsn ik wwHr
! Tt 1 IROM off | $9 U BT AT G0 T HT |

Critically examine the statement that the French Revolution was not
caused by the French philosophers but by the conditions of national life
and by the mistakes of the government. 20

(b) “STU4 MU H W W WSl T8l W Hehar | AU favarw § % I8 vk, ameh
T IR 3eh orree, TRl w9 @ H TE ® gwdt |7 omeE o @
qRNET JHesy |

“A house divided against itself cannot stand. I believe this government

cannot endure permanently, half slave and half free.” Explain Abraham

Lincoln’s perspective. 20
() Toadm % wdaa @M 4 & & fm grr fad = weeet ufiee @ aols

i |

Trace the significant role played by Ho Chi Minh in Vietnam’s struggle

for freedom. 10
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Q7. (a)
(b)
(c)

Q8. (a)
(b)
(c)
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wff 3 TorE TR TSIaH Tehad @ gASEE UST o 3TIhiaieh IiEd i
= H "t gTed ht ?

How did Lenin achieve an abrupt transition from a Monarchical
autocratic to a Socialist State ?

FAT 39 39 fo9R @ ggad 2 T auiy afy s w snuia afY it stest w
menfta |y % <9 we gU st o ?
Do you agree with the view that the Treaty of Versailles was a bad

compromise between a treaty based upon force and a treaty based on
ideas ?

AN TmTSuETg it <ol st W 1800 | 1907 7% & dfg H1 faEtw
TG T |

Trace the growth of British imperialism in South Africa from 1800 to
1907.

mﬁw%%mmw%mmmaﬁm | FE &g T T®
I AHTSIATG % fovg Sasean off 2

Trace the growth of Arab nationalism after the First World War. How
far was it a reaction to Oil imperialism ?

204t Sraredt & 3ifem <wenl A Aifda 9w § s ToHifaes aftedAt 2 fora w0 A
weit J shi TRt ht wwrted R ?
In what way did the political changes in Soviet Union influence the

events in Eastern Europe during the closing decades of the
20th century ?

Juren Ao i IR Fedt g3 aRfeuf i TREr ga HIT |

Outline the circumstances leading to Détente.
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